L (M)

= H R FHEE | BER
WREY —EXfERERR (T, T2) KA SW 2,460 2,237 223
REY —ERERERAR (T, T2)  MA S 1,240 1,128 112
FRHEZ#E |REY—xmRERE (T3) KA SW 1,370 1,246 124
(B |rREY—EexmERERR (T3) WA SW 690 628 62
REREY — 2K (T, T2, T338) KA - /AA *8/31%EHET ol 550 500 50
RERE Y — 2K (T1, T2, T3#\B) KA /AN *9/1%%EH LY ol 700 637 63
esmEEl (T, T2) KA HJ 450 410 40
FBREZE |8k (T T2 /hA HJ 220 200 20
(EAR) |Z=Bmsel (T3) KA HJ 390 355 35
MR (T3 A HJ 190 173 17
REY—EREERER KA SwW 2,950 2,682 268
PHZEE |REY—CXEHRERY A S 1,470 1,337 133
(B |RERZT Y —EXR KA -/BA ol 230 210 20
(JL/NH/0Z/LH/UA/KE/DL/AA/AC/VA/HAF| FRES (ZBUTE) | (YR,YQ)
TIHZEE |kt KA H)J 370 337 33
(ER#) |Z=smEe A HJ 180 164 16
WREY — X fERERR (T KA SW 2,780 2,528 252
BEAZEE |REY - xmRERAY T hA S 1,390 1,264 126
(B8 |[REY—ExERERR (T2) KA -/hA SW 1,250 1,137 113
MERZ Y —E 2K (T1, T2#H8E) KA - /hA ol 320 291 29
wEREER (T KA HJ 440 400 40
BEZEE | ERe (T A HJ 220 200 20
(AR |5t (T2HE) KA /A HJ 420 382 38
mEREEE (T28E) KA -/hA HJ 370 337 33
RRAZEE |25 mEe KA H)J 340 310 30
(ER) |Z=smEe A HJ 170 155 15
REY—EREEFERL (T KA S 2,620 2,382 238
g wEY —ERERERLR (T hA Sw 1,310 1,191 119
- WREY —EXfRERR (T2) KA SW 1,300 1,182 118
wEY — ERERERR (T2) WA Sw 650 591 59
(EIRR#R) KRERZY—E 2% (T, T2#8) KA -/hAA *9/30%%EHZT| Ol 350 319 31
RERZY —E 2K (T1, T2#H8) KA /AN *10/1%EH &Y ol 580 528 52
i ZEREER (T KA HJ 440 400 40
I —. ZEResRl (T A HJ 220 200 20
(@A) ZEmEEE (T2) KA HJ 380 346 34
s Rl (T2) A HJ 190 173 17
REZEE |KEY—C XIERERR KA SW 980 891 89
(E#g) |REY—EREHRERR A SwW 490 446 44
EBRZEE  |ZEmEr KA HJ 110 100 10
(EA) |Z=smEe A HJ 50 46 4
BEEE |rEy—CcERERR KA Sw 1,000 910 90
(E#) |REY—ExEHRERE WA SwW 500 455 45
MEAZEE |28 mEr KA HJ 240 219 21
(EA) |Z=smEe A HJ 120 110 10
(a7 WEY —ERERERE KA Sw 700 637 63
() REY — EXFEREAR YN SW 350 319 31
RERZH—EZR KA - IA ol 240 219 21
aZ®E  |Z8mEE KA HJ 290 264 26
(AR |Z=5mEe A HJ 150 137 13
FFRZEER |REY— X ERERR KA SW 2,610 2,373 237
(ERS) |REH—ExERERR A SW 1,300 1,182 118
MTmES |28 mRr KA HJ 370 337 33
(AR |Z=5mEe A HJ 180 164 16




